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1. Introduction
In the previous meeting, we agreed that it is useful to organize the collection of Identidiers that are used for the EDGEAPP study under one key issue. 
This new key issue defines the need for that collection.

2. Reason for Change
This document specifies the new Identities key issue.
4. Proposal

It is proposed to agree to add the following subclause to 3GPP TR 23.758.
* * * First Change * * * *

4.x
Key Issue x: Identities
Application Clients wish to connect to their corresponding Edge Application Servers in the most appropriate Edge Data Network. This is a continuous activity that is influenced by several factors like: the location of the UE in which the Application Clients are excuting, the deployment map of Edge Application Servers and Changes in Edge Data Network configurations.

When an Application Client searches for the most appropriate Edge Application Server, it needs to identify it. When searching for the most approprate Edge Application Server, its location and the location of the UE needs to be identified. When a Application Client switches from one Edge Application Server instance to another one, its context needs to be mirrored. In order to do so, the identity of that context needs to be specified.

Edge Enabler Clients interact with Edge Enabler Servers in different Edge Data Networks. The identity of the Edge Enabler Servers needs to be defined in order to be identified correctly.

Open issues:

-
What are the different identities that need to be specified?

For each specific identity – 

-
What is the required level of uniqueness? Globally uniqueness, Edge DN-level uniqueness? Other level?

-
What it its level of security? Which entities are permitted to be exposed to it?

-
What is the duration of its existence?

-
Which entity allocates its value?

